
UG/CBCS/B.A./Hons./2nd Sem./Education/EDUCC3/2022 

2031 1  Turn Over 

 
UNIVERSITY OF NORTH BENGAL 
B.A. Honours 2nd Semester Examination, 2022  

CC3-EDUCATION 

PSYCHOLOGICAL FOUNDATION OF EDUCATION 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

Candidates should answer in their own words and adhere to the word limit as practicable. 

 GROUP-A  

 Answer any four questions from the following 3×4 = 12 

1. What do you mean by schema?  

   

2. Write the concept of insightful learning.  

   

3. How can we define creativity?  

   

4. How can you differentiate between case study and case history?  

   

5. Give the significance of projective test in the measurement of personality.  

   

6. Mention any three ways of memorization.  

   

 GROUP-B  

 Answer any four questions from the following 6×4 = 24 

7. Explain Rorschach Inkblot Test as a technique of measuring personality.  

   

8. Explain briefly any one verbal method of measurement of intelligence.  

   

9. Discuss different types of transfer of learning.  

   

10. Differentiate between psychology and educational psychology.  

   

11. Explain the characteristics and significance of social development of 

Adolescents. 

 

   

12. Explain the nature of creativity.  
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GROUP-C 

 

 Answer any two questions from the following 12×2 = 24 

13. Define Intelligence. Explain the Guilford theory of Intelligence and its 

significance. 

4+5+3=12 

   

14. Define Personality. How do heredity and environment act as determinants of 

Personality? 

2+5+5=12 

   

15. What do you mean by Cognition? Explain the characteristic features and 

educational significance of Sensori-Motor stage of Cognitive Development. 

2+10=12 

   

16. What do you mean by Reinforcement in learning? Explain Skinner’s Theory of 

Operant learning with special reference to various reinforcement in learning. 

Give the implications of this theory of learning. 

2+6+4=12 
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